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Y Empirical & Molecular Formulas
1. Samples of a compound are found to be 27.91% Fe, 24.08% S, and 48.01% O Determine the empirical
formula. , N )
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iri\ A certain compou:ﬁd is known to have a molar mass of slightly under 320 grams. If a sample contains 0.226

moles of aluminum, 8.21 grams of carbon, and 21.6 grams of oxygen, what is the molecular formula and the
name of this compound?
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3. 250.0 ml of a vapor weighs 1.035 grams. If the compound consists of 30.43% nitrogen and 69.57% oxygen,
what is the empirical formula of this compound?
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4, 50.0 grams of sulfur is mixed with 100.0 grams of metallic iron and the mixture is heated. When the
reaction is completed, 12.7 grams of iron remains unreacted. What is the empirical formula of the

compound formed? -
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5. When 12.60 grams of magnesium metal is ignited in air, it reacts with the nitrogen in the air to produce
17.44 grams of a compound. What is the empirical formula of this compound? Al W g
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\,?:56.' When 4.000 grams of the hydrate salt of sodium tetraborate (N a2B407) 1s heated to drive off the water. The
anhydrous residue is found to have a mass of 2.111g. What is the correct formula for this hydrate?
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7. A '15.25g sample of an organic compound was combusted in oxygen which produced 34.71 g of carbon

dioxide and 14.20g of water. In addition, it was found that the compound contained 27.59% oxygen. What is
the empirical formula of the compound? (C3Hs0)
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8. A 20g sample of an organic compound was combusted in oxygen which produced 47.5 7g of carbon dioxide
and 4.86 grams of water. What is the empirical formula of the compound? (CsHa03)

42.576 €05 ROGC = 13,98 US g C 0 Imal o | ¢ gk [o e 6003
J He otgCl, %&_(Egj -7
PR H & f_g.;g.%i‘{% — O S Lj"»’f wiq H m;;%iéﬁm”m - 3 g:; by Jon Th ey %’\yﬁf{;\hx§ e o
A - . g %
L"[ ﬁ J7 % (e Q;}j j ¥ §_@@q§,? 7 LAY

. =k — [, awt fr - ;':,’“ »L%ﬂ,%;?f’“: ;j
20 - 12,9815 - 0. 579 = (5,47 g Oy = o, ypumol oot fx

EJ&"&“?




